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[ {24%) Explain the following terms with examples or evidence,

Agglutinating languages
Register 1one languages

The Innateness Hypothesis

Homonymy

Frege's Principle (Principle of Compositionality)
Pidgin or Creole (choose one)

Logographic writing systern
Lateralization

[i. (10%) For each phonetic symbol,
8. describe the sound in terms of state of glottis, place of articulation, and manner of

arttculation,
b.  give a word from English or Mandarin Chinese that contains the sound.
L [n] 3. [d3] 5. {K"]
2. [8] 4. (pl

UL (10%) The following Fnglish sentence is ambiguous.

John saw q girl with a telescope,

l. How is the sentence ambiguous?
2. Use tree structure to illustrate the ambiguity.
3. Wnite a set of Phrase Structure Rules that will derive the sentence.

V. (20%} Use the following sentences from Mandarin Chinese and English 1o illusirate the
nature of Lmiversal Grammar and Individual (Parficular) Grammar. Focus on the
nterpretation of the reflexives. The indices refer to the interpretation of the reflexives.

Whet a star is given, it means that the reflexive does not refor to that particular person.  For
example, in (1b), according to the indices, AT refersto 25 = bui not £y

l.a sh= i EE%?_, :Fg‘ﬁiﬂgﬂq °
b. 5& = | EAETEIN —2[555';;-3 & -
, 2.a. John; did not believe that Bill; would criticize himself.,;
b. John; gave Bill; a book of himselfy.

Y[ (10%) How is leaming a second language differert from learning a first ianguage?
Consider various factors of langmage learning. In your answer, also define the words
acquisition and learning. (Hint: Stephen Krashen)
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VI (26%) PART ONE: Consider the follawing data of Maori, a Polyneasian language.

{1) Passive Crerundive Gloss
4. awhitia awilitana embrace
b.  hopukia hopukana catch
C. Arumia Arman s follow
d.  tohunia tohunana point out
2. maura Imaurana cary
f.  werchia werohans slab
g, patua palldta strike, kill
h. kit kiteta see, find

Ouestions:

A Identity the morphemes:

Passive: Gerundive: .
'embrace’: ‘vatch'; tollow  'point oul’
‘carry"; 'stab’; 'strike’: 'saa'

—— —_——— —— ——— —_— - —

B. Give the Word Formation Rules for the passive and the gerundive forms in Maori,
C. Write any rule(s) you need to account for the above dats,

FART TWO: Now consider the present form of the above words.

(2} Present Gloss
a  gwhi embrace
b. hopu catch
¢ aru follow
d. tohu point Ll
€. mau Camy
L. wero stab
¢, pam strike, kill
h. kite see, find

Questions:

[3. Give the Word Formation Rule for the present form in Maori.
k. Give additional rule(s) to account for the dala in (2). If you need to revise any of
your rules or assumptions in Part One, feel free to do so.
k. In solving this problem, see if vou can predict the following:
a. Given present tense [ake), passive will be; | gerundive will be:
b Given passive |kirakia], present will be: | perundive wil] be: _
¢ (hven perundive [mopitana], present willbe : passive will be:




